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E ~ Grey line: exponential fit Peak flux: 3.812+/- 0.027 c/s/cm? E
— Black line: power law + gauss fit Fluence : 80.32+/- 0.77 c/lcm? —
- Dashed line: power law o ) ' _
Duration: 68.25+/- 1.39s
— Best fit model: 3. —
= Best fluence model: 3. 3
B . Best duration model: 3. 7
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; Exponential fit é
- Expon.time: 21.06+- 0.21s (chi*-red= 46.63) =
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; Power law fit é
= Power law index: -1.471+/- 0.004 (chi’-red= 7.49) 3
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— Power law fit plus Gaussian (st.dev.= 58.97+/- 0.65 s, fracgs= 0.14+/- 0.00) =
- Power law index: -1.774+/- 0.014 (chi*-red= 4.67) -
= * B Pttt £ ) + 3
= | RN TRIINE TR y HHH bl pob il e
= TR T AT A L LA LU TR Y P i ipas
- ﬂ#ﬂﬁﬂﬁwﬁ * ww YU TN 1 Mﬁwwﬁﬁ it + ) it N LU HHW N%
E | I I I I I I I I I | I I | I E
0 100 200 30

Time [s]

0



